Sample ID Run Diluition(x) Area Average Calculated [pM] [uM] Area
0 0
1.5625 1 180.7 1.5625 180.7
3.125 1 231 3.125 231
6.25 1 512.5 6.25 512.5
12.5 1 695.9 12.5 695.9
25 1 1559.5 25 1559.5
50 1 45472 50 4542
62 1 5146.4 62 5146.4
248A1B 1 1 1092.8 1018.63 10.54 y=85.882x-113.84
2 1 1054.5 6000
3 1 908.6 y=285.882x-113.84
: 5000 R?=0.9838
248B1B 1 1 3515.7 3495.00 39.37
2 1 3738.2 4000
3 1 3231.1 3000
248C1B 1 1 657.9 646.77 6.21
2 1 690.5 2000
3 1 591.9 1000
248D1B 1 1 353 408.57 3.43 0
2 1 393.7
20 40 60 80
3 1 479 -1000




